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QUESTION 1

What is the fastest way for an engineer to test the implementation of SRST in a production environment? 

A. Shut down the Cisco Unified Communications Manager Servers. 

B. Shut down the switch ports connected to the Cisco Unified Communications Manager Servers. 

C. Add a null route to the publisher Cisco Unified Communications Manager at the remote router. Remove the null route
when the operation is verified. 

D. Unplug the IP phones from their switch ports. 

E. Verification is not needed. 

Correct Answer: C 

 

QUESTION 2

Which technologies provide remote-site redundancy for Cisco IP Phones during a WAN failure? 

A. SRST and MGCP fallback 

B. SRST and TEHO 

C. TEHO and MGCP fallback 

D. SRST and AAR 

Correct Answer: A 

 

QUESTION 3

You want to perform Media Control Gateway Protocol gateway maintenance. For this purpose, you disable Media
Control Gateway Protocol gateway using the no mgcp command. After you perform the maintenance, you want to
enable the Media Control Gateway Protocol gateway. Which command should you use? 

A. enable mgcp 

B. mgcp 

C. mgcp enable 

D. mgcp yes 

E. activate mgcp 

F. mgcp active 

Correct Answer: B 
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QUESTION 4

With Cisco Extension Mobility, when a user logs in to a phone type which has no user device profile, what will happen to
the phone? 

A. The phone takes on the default clusterwide device profile. 

B. The phone creates a new device profile automatically. 

C. The phone immediately logs the user off. 

D. The phone crashes and reboots. 

Correct Answer: A 

 

QUESTION 5

Which statement about AAR functionality is true? 

A. AAR reroutes calls through the PSTN upon WAN failure. 

B. AAR reroutes calls through the PSTN when Cisco Unified Communications Manager CAC blocks a call. 

C. AAR reroutes calls through the WAN when the PSTN connection fails. 

D. AAR reroutes calls to another phone number when a Cisco IP Phone unregisters. 

Correct Answer: B 

 

QUESTION 6

Which statement is correct about AAR? 

A. The end users sees, "Network Congestion Rerouting?" but AAR is otherwise transparent to the end user and works
without user intervention. 

B. AAR will display "not enough bandwidth" on the IP phone while it reroutes the call. 

C. AAR allows calls to be rerouted because of insufficient Cisco Unified Border Element controlled bandwidth to an
ITSP. 

D. AAR allows calls to be rerouted due to insufficient gatekeeper controlled IP WAN bandwidth. 

Correct Answer: A 

 

QUESTION 7

Which configuration command disables the secondary dial tone on the branch office ISR for users calling from the
PSTN into the branch office during a WAN failure? 
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A. direct-inward-dial 

B. voice translation-rule 

C. incoming called-number 

D. application 

Correct Answer: A 

 

QUESTION 8

In a cluster-wide deployment, what is the maximum number of Service Advertisement Framework forwarders to which
the Cisco Unified Communications Manager can connect? 

A. 1 

B. 2 

C. 3 

D. 4 

E. 6 

F. as many as are configured 

Correct Answer: B 

 

QUESTION 9

What happens if location-based CAC is used and there is no bandwidth available when a remote caller is placed on
hold? 

A. Cisco Unified Communications Manager sends TOH rather than MOH. 

B. Cisco Unified Communications Manager terminates the call. 

C. Cisco Unified Communications Manager plays default MOH. 

D. Cisco Unified Communications Manager attempts to reconnect the call immediately. 

Correct Answer: A 

 

QUESTION 10

Which bandwidth amounts are correct for configuring locations? 

A. 8 kb/s for G.729, 64 kb/s for G.711, and 64 kb/s for G.722 

B. 8 kb/s for G.729, 64 kb/s for G.711, and 16 kb/s for G.722 
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C. 64 kb/s for G.729, 64 kb/s for G.711, and 64 kb/s for G.722 

D. 8 kb/s for G.729, 8 kb/s for G.711, and 8 kb/s for G.722 

Correct Answer: A 

 

QUESTION 11

Which remote-site redundancy technology fails over to POTS dial peers from the Cisco Unified Communications
Manager dial plan during a WAN failure? 

A. MGCP fallback 

B. H.323 fallback 

C. SCCP fallback 

D. SIP fallback 

Correct Answer: A 

 

QUESTION 12

Which process can localize a global E.164 with + prefix calling numbers for inbound calls to an IP phone so that users
see the calling number in a local format? 

A. Calling number localization is done using translation patterns. 

B. Calling number localization is done using route patterns. 

C. Calling number localization is done by configuring a calling party transformation CSS at the phone. 

D. Calling number localization is done by configuring a calling party transformation CSS at the gateway. 

E. Calling number localization is done by configuring the phone directory number in a localized format. 

Correct Answer: C 
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